
We note that 7 must be 

since A > 0,the theory 

coupling a satisfies: 
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of order s*, for if it were larger then, 

would not be asymptotically free. The 
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The fixed points of (6.11) will be given by the zeroes of the 

quadratic form. These will be real and positive if: 

- v'%?i?? <B (0 (6.13) 

When this condition is satisfied (A and C are always positive) 

then there will exist two fixed points a1 and a2. If the coupling 

constant X = c(o)g2 is chosen so that: 
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we will be driven to the value T = cx 1 as t+m. In other words 

al is a W stable fixed point. Equation 6.11 can easily be 

solved by quadratures: 
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For large t we have that: A(a2-, al) 

sz (t) - a1 _3 t bO I 
t-- 

-2 - 1 and since g Q F , 1 X(t) will approach zero like c. 
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